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Warm-up 8-26
Solve each equation for x.
1.x-5=3 2.x=8-3

3.2x-3=3 4.3x=2x-13
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Warm-up 8-26

Solve each equation for x.

1'X'§§=3 2.x=8-3
s e,
3.2x~\3=3
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Name:
Algebra Practice Problems - ANSWERS Date:
1) 8=x+1 answer:x=7 2) x+7=11 answer:x=4
3) x+3=11 answer:x=3§ 4) -5+x= -43.8 answer: x = -3.-8
5) x/4=-7 answer:x=-28 6) 2x+6=8 answer:x=1
7) -2x+2=-6 answer:x=4 8) 4x+5=1 answer: x=-1
9) -7x- 3'8 = _619'8 answer: x = 11 10) 1+2x=15 answer:x=7
11) -7x-1+6x=-5 answer:x=4 12) -9+ 7x=-2x-72 answer:x=-7
13) 4-x=5x-26 answer:x=>5 14) 2x+8=-x+44 answer:x=12
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Quiz
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One and two step applications.

1) Perry spent $30 on a mag?uine and some

mndv bars. If the maoagme cost S6 and each
candy bar cost $3, lhen how many candy bars
did he buy? - (ahdg bAv <

&\4—3><:

~

3) Kayla won 37 super bouncy balls playing
hoops at her school's game night. Later, she
gave two to each of her friends. She only has
7 remaining. How many friends does she

neve? X = Q—vwev—ds
R) - D=/
-2 7 - 37
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2) 506 students went on a field trip. Nine buses
were filled and 29 students traveled in cars.
How many students were in each bus?

4) Totsakan spent $14 on a magazine and some
notepads. If the magazine cost $5 and each
notepad cost $3, then how many notepads did
he buy? F- V\Ul—t}%\dl
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| want you each to think of a time that you had to wait to do
something because of your age, size, money...

Once you have one, write that down in your notes.
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Today's Goals

I can...

e write and graph inequalities with one
variable.

e identify solutions of inequalities with one
variable.

e solve one-step inequalities by using addition
and subtraction.

e solve one-step inequalities by using
multiplication and division.
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Section 6.1 - Solving Inedualities

August 27, 2019

An inequality is a statement that two quantities are not
equal. The quantities are compared by using the following

signs:
Inequality Signs
= == = B~
- 18 less than 1S greater 1 less than - 1S greater
- 1s fewer than than or equal to than or equal
is more than IS N0 more to
exceeds than - 1snot less
1S at most than
- 1s at least

A solution of an inequality is any value of the variable that

makes the inequality true.
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Graphing Inequalities

One variable inequalities must be graphed on a _n un be K‘,ne

bl LR LR - L L

If the inequality sign used is >, <, # then use an open circle to graph.
If the inequality sign used is a >, <, = then use a closed circle to graph.

Then draw an arrow to include the numbers that would make the
statement true

x> -4
LN
LI L4
10 9 8 7 6 5 -4 3 -2 -1 0 1 2 3 4 5 6 7 8 9 10
x>H5b 5
=
10 9 8 7 6 5 4 3 2 -1 0 1 2 3 4 5 6 7 8 9 10

%4%6_
Rl A T
> = 2
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Try This!
Graph each inequality
1. ¢>2 GH_FI_'_H_'_'_H_I_I_H_H_H_H%

10
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Homework

Worksheet
NOT #s 3-8 on the inequality side

1



